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1. (�K 15©) ©O�	¼ê�?ê

∞∑
n=0

n(1− x)xn2

Ú

∞∑
n=0

n(1− x)xn3

3 [0, 1) þ���Âñ5.

2. (�K 15©)

(1) Á¦�?ê B(x) =
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n=0

(−1)n

(n!)2

(x
2

)2n
�Âñ�» R (�½µ0! = 1).

(2) y²B(x) 3Âñ«m(−R,R) S÷v��~�©�§

xy′′ + y′(x) + xy(x) = 0.

3. (�K 15©) �Ä¼ê f(x) = ln(1 + x+ x2 + x3 + x4) .

(1) ¦ f(x) 3x0 = 0 ?��?êÐm
+∞∑
n=1

anx
n;

(2) (½�?ê�Âñ�;

(3) O�
+∞∑
n=1

an.

4. (�K 15©) y²:

(1) ¼ê�?ê
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n=0

sin(2nx)

n!
½Â
��C∞ 1w�¼ê f(x).

(2) ¦Ñ¼ê f(x) � Maclaurin ?êL�ª.

(3) ¦Ñ(2) ¥��?ê�Âñ�».
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6. (�K 10©) �

f(x) =

x, 0 ≤ x ≤ 1,

0, 1 < x ≤ 2.

O� f(x) 3 [0, 2]«mþ�FourierÐmª§¿|^Ðmªy²µ
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1

(2n+ 1)2
=
π2
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+∞∑
n=1

1
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=
π2
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7. (�K 10©) � un(x) (n = 1, 2, · · · ) 3 [a, b] ëY§�
∞∑
n=1

un(x) 3 (a, b) ��Â

ñ§K
∞∑
n=1

un(x) 3 [a, b] ��Âñ.

8. (�K 10©) �
∞∑
n=1

un(x) 3 [a, b]þÂñ, XJ

|Sn(x)| =

∣∣∣∣∣
n∑

k=1

uk(x)

∣∣∣∣∣ ≤M, a ≤ x ≤ b, n = 1, 2, · · · ,

K¡
∞∑
n=1

un(x) 3 [a, b] þkkk...ÂÂÂñññ.
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∞∑
n=1

un(x) 3 [a, b] þk.Âñ, c ∈ (a, b), �é?¿ δ > 0,
∞∑
n=1

un(x)

3 [a, c− δ] Ú [c+ δ, b] þ��Âñ, XJun(x) (n = 1, 2, · · · ) 3 [a, b]þRiemann

�È, @o
∞∑
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un(x) �3 [a, b] þRiemann �È, 
�
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∞∑
n=1

un(x))dx =
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n=1

∫ b

a

un(x)dx.
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